001 Kon D|H]|z L| d 302 | «on D|z]|h| H L] d
dyf 1 06-001-030] 3 [ 12 ] 1 35| 6 06-302-250] 25 | 3 [ 4| 6 4| 6
06-001-040] 4 | 12] 1 35| 6 08-302-400[ 40| 4 | 5| 7 65| 8
DIL 06-001-050] 5 | 12 [ 1 35| 6 08-302-500{ 50 | 6 | 5| 7 0| 8
L 08-001-030] 3 | 12| 1 35| 8 12-302-500[ 50 | 6 | 6 | 8 100] 12
JIH 08-001-040] 4 [ 127 1 35| 8
. 08-001-050| 5 | 12| 1 35| 8 .
D] 08-001-060] 6 | 12 | 1 35| 8 E:év.]ﬁ
= = H ‘*e
e ] D |
:_301 koA D| z|[H L| d
08-301-180| 18 | 3 | 12 35| 8 koA D[ h L d
06-003-060| 6 | 18 35| 6
06-003-080| 8 | 25 35| 6
06-003-100[ 10 | 30 35| 6
06-003-120] 12 | 30 35| 6
08-003-060] 6 | 18 35| 8
08-003-080| 8 | 25 35| 8
08-003-100] 10 | 25 35| 8
08-003-120] 12 | 30 35| 8
08-003-140| 14 | 30 35| 8
08-003-150| 15 | 30 35| 8
koA D|H L] d 08-003-160| 16 | 30 35| 8
06-002-180| 18 | 10 35| 6 08-003-180| 18 | 30 35| 8
06-002-250 25 | 10 35| 6 7 08-003-200] 20 | 30 35| 8
08-002-120] 12 | 12 35| 8 08-003-220] 22 | 30 35| 8
08-002-140| 14 | 12 35| 8 08-003-250| 25 | 30 35| 8
08-002-160| 16 | 12 35| 8 08-003-300] 30 | 30 35| 8
08-002-180| 18 | 12 35| 8 12-003-300| 30 | 30 38| 12
08-002-200| 20 | 12 35| 8 08-003-105] 10 | 50 35| 8
08-002-220| 22 | 12 35| 8 08-003-125| 12 | 50 35| 8
7 08-002-250] 25 | 12 35| 8 08-003-145] 14 | 50 35| 8
=7 08-002-300] 30 [ 12 35| 8 12-003-104] 10 | 40 38| 12
7 08-002-121] 12 19 35| 8 12-003-124] 12 | 40 38| 12
08-002-141] 14 | 19 35| 8 12-003-144] 14 | 40 38| 12
08-002-161| 16 | 19 35| 8 12-003-164| 16 | 40 38| 12
08-002-181] 18 | 19 35| 8 12-003-184| 18| 40 38| 12
08-002-201] 20 | 20 35| 8 12-003-204| 20 | 40 38| 12
z=2 08002221 22 | 20 35| 8 12-003-214] 21| 40 38| 12
08-002-251] 25 | 20 35| 8 12-003-105] 10 | 50 38| 12
005 | «on D|al]H L] d 12-003-125| 12 | 50 38| 12
S 08-005-110] 11 | 30°] 20 35| 8 12-003-145] 14 | 50 38| 12
08-005-140| 14 | 45°] 17 35| 8 12-003-165| 16 | 50 38| 12
- 08-005-136] 13 | 60°[ 11 35| 8 12-003-185] 18 | 50 38| 12
08-005-156 | 15 | 60° | 13 35| 8 12-003-205] 20 | 50 38| 12
08-005-206| 20 [ 60° 17 5[ 8 004 | «og D|[H]| z L| d
08-005-288 | 29 | 60° 30 35| 8 4, .4, 08-004-015] 15] 5 | 1 35| 8
06-005-100] 10 | 90°] 10 35| 6 T 1 708-004-020] 2 | 6 [ 1 35| 8
. 06-005-120] 12 [90°] 12 5| 6 L L 08-004-025| 25| 8 | 1 35| 8
08-005-100] 10 | 90°] 10 35| 8 08-004-030] 3 [12] 2 35| 8
08-005-120| 12 | 90° | 12 35| 8 , " 708-004-032] 3 | 18] 2 I
08-005-160| 16 | 90°| 16 35| 8 o W 1 08-004-040] 4 [ 17 2 35| 8
08-005-250 | 25 | 90° 207 35| 8 — H 08-004-042] 4 | 21 2 39| 8
08-005-320 | 32 | 90°] 20 35| 8 08-004-050| 5 | 20 | 2 35| 8
z=2  12-005-400] 40 | 90°[ 23 38 | 12 "D° 708-004-060| 6 | 25 [ 2 35| 8
12-005-500 | 50 | 90°| 28 38 | 12 B
08-005-412 40 [120°] 14 35| 8
12-005-412] 40 |120°[ 14 38 | 12
12-005-612] 60 [120°[22.5 38 | 12
08-005-413] 40 [135°] 12 35| 8
08-005-415] 40 [150°] 9 35| 8
12-005-615 | 60 [150°[13.5 38 | 12



https://frezaopt.com.ua/freza-priamaia-sekira-06-001-030-3x12x6x57
https://frezaopt.com.ua/freza-dlia-slebov-sekira-08-302-400-z5-407872

KoA D|[a°|H]| 2 L|d |  «om D|R L| d
08-006-075] 7.5 [193°] 5 | 2 35| 8 06-008-060] 6 | 3 5] 6
08-006-100] 10 [ 8° [ 10] 2 35| 8 06-008-080] 8 | 4 5] 6
08-006-120] 12 | 8° [ 12] 2 35] 8 06-008-100] 10 | 5 5] 6
08-006-127 [ 12.7] 14° [127] 2 35| 8 08-008-060] 6 | 3 35] 8
08-006-128[12.8] 8° [206] 2 35| 8 08-008-080] 8 | 4 35] 8
08-006-160] 16 | 14°| 16 2 35] 8 08-008-100] 10 | 5 5] 8
08-006-200] 20 [ 14°| 20| 2 5] 8 08-008-120 12 | 6 35| 8
08-006-250| 25 |14%30] 25 | 2 35] 8 08-008-140] 14 | 7 5] 8
12-006-300 | 30 [14°30] 30| 2 38| 12 08-008-160] 16 | 8 35] 8

0 12-006-450 | 45 | 45°| 15| 2 8| 12 08-008-180] 18 | 9 5] 8
< | 08-008-200] 20 | 10 35| 8

kon | D] H L] d 08-008-220| 22 | 11 35| 8
08-007-080] 8 | 30 60 | 8 08-008-240] 24 | 12 35| 8
08-007-100] 10 | 30 60 | 8 08-008-250] 25 [12,5 35| 8
08-007-120] 12 | 30 60 | 8 08-008-300] 30 [ 15 35] 8
08-007-140] 14 | 30 60 | 8 08-008-350] 35 [17,5 35] 8
08-007-150] 15 | 30 60 | 8 12-008-400] 40 | 20 38| 12
08-007-151] 15 | 30 70] 8 12-008-508 50.8] 25.4 38| 12
08-007-160| 16 | 30 60| 8 009 | «on D|HI[R L] d
08-007-161] 16 | 30 70| 8 <o 08-009-060] 6 [ 20] 3 35| 8
08-007-180] 18 | 30 60| 8 * 08-009-080] 8 | 25| 4 35| 8
08-007-190] 19 | 30 60 | 8 . 08-009-100{ 10 [ 25 [ 5 35| 8
08-007-200] 20 | 30 60| 8 08-009-120] 12 [ 25 [ 6 35| 8
12-007-230] 23 | 16 60 | 12 © 708-009-140[ 14| 25| 7 35| 8
08-007-240] 24 | 16 0] 8 08-009-160 16 [ 30 | 8 35| 8
12-007-246| 24 | 16 60 | 12 5 08-009-180[ 18 [ 30 [ 9 35| 8
08-007-250] 25 | 16 35| 8 08-009-200] 20 | 30 [ 10 35| 8
12-007-256| 25 | 16 60 | 12 08-009-105] 10 [ 30 [ 5 80 8
12-007-266| 26 | 16 60 | 12 - 08-009-125] 12 [ 30 | 6 80| 8
12-007-280| 28 | 16 60 | 12 | 08-009-165] 16 [ 30 [ 8 80| 8
08-007-300] 30 | 16 0] 8 12-009-120] 12| 40| 6 80 12
12-007-306| 30 | 16 60 | 12 12-009-140| 14 | 40 7 80 [ 12
08-007-320] 32 | 16 35| 8 12-009-160| 16 | 40| 8 80 [ 12
12-007-327| 32 | 16 75 | 12 010 | «on D|R|H| 2 d
12-007-356 | 35 | 16 60 | 12 4 08-010-120] 24 | 12 [ 22| 2 8
12-007-400 | 40 | 16 38 | 12 [] L
12-007-500 | 50 | 16 38 | 12 , >
12-007-120] 12 | 40 80| 12 N1 <
12-007-140| 14 | 40 80 | 12 D .
12-007-150| 15 | 40 80 | 12 011 | «on D|R[H d
12-007-160| 16 | 40 80 | 12 R D - 08-011-193] 19| 3 [ 15 8
12-007-180| 18 | 40 80 | 12 E 08-011-245| 24 | 5 [ 16 8
12-007-210] 21 | 40 80| 12 08-011-285| 28 | 5 [ 15 8

307 ]| va [DJ[H z L| d L 12-011-245] 24 | 5 | 15 12
d. 08-307-082] 8 | 20 2+1 5] 8 12-011-285[ 28 | 5 | 15 12
5 08-307-102] 10 | 20 2+1 5] 8 -« . .
L _08-:307-112] 11 20 2+1 35| 8
08-307-122] 12| 20 2+1 35| 8 _ bl Lt
o 08-307-132] 13 | 20 2+1 35| 8 012 | «on D] R| H| nigwunnuk d
g _08-307-142] 14 | 20 2+1 35| 8 [ 18-012-100| 21 | 10 | 16 | 5x13x4, 6952z 8
08-307-152] 15 | 20 2+1 5] 8 18-012-147 | 25 [14.72] 25 | 5x13%4, 69522 8
D | _08307-162] 16 [ 20 2+1 5] 8 Y T22:012-320] 255 | 32 | 38 | 5x13x4, 6952z 12
08-307-172] 17 | 20 2+1 35| 8
‘@:’ 08-307-182] 18 | 20 21 %] 8 } o
08-307-202] 20 | 20 2+1 35| 8 R z=2
08-307-222( 22 | 20 2+1 5[ 8 = ;) 77
‘ 12-307-128] 12 [ 81 2+1 48] 12
* 12-307-168| 16 | 81 2+1 8| 12




-«

D

L84

Kog D| R | H| nigwmnumk | L | d 01 5 |  «on D|H nigwvnivk | L | d
18-013-030] 20 | 3 | 6 |5x13x4,6952z| 35| 8 - 16-015-220] 22 [10.5 4x10x4, mr104zz| 35| 6
18-013-040| 22 | 4 | 8 |5%13x4,695zz| 35| 8 18-015-250] 25 | 10 5x13x4,695zz]| 35| 8
18-013-050) 24 | 5 | 10 | 5x13x4,6952z| 35| 8 18-015-300] 30 | 13 5x13x4,695zz]| 35| 8
18-013-060| 27 | 6 | 12 |5%13x4,695zz| 35| 8 ’ . 18-015-350| 35| 16 5x13x4,695zz]| 35| 8
18-013-080) 30 | 8 | 16 | 5x13x4,695zz| 35| 8 »\k //‘7 " 18-015-400] 40 | 18 5x13x4,695zz]| 35| 8
18-013-100] 33 | 10 | 20 | 5x13x4,695zz| 35| 8 S 22-015-500] 50 |22.5 5x13x4,695zz| 38 | 12
18-013-120] 38 | 12 | 24 | 5x13x4,695zz| 35| 8 = 22-015-627(62.7| 29 476x12,7x5,R3zz | 38 | 12
22-013-126 | 38 | 12 | 24 | 5%x13x4,695zz| 38 | 12 \( z=2
Y; WLl A
p ’ z=2 016 | «om D[ a|H]| nipwnmak | L | d
il 4 18:016-150 | 24 | 15° | 22 |arextazss rez| 35| 8
014 | «on D|R/|H]| nigumnumk | L | d 18-016-225| 31 [225°| 23 | 476x127x5,R3zz | 35 | 8
|&dﬁ1 18-014-030) 19 | 3 | 8 |5x13x4,6952z| 35| 8 18-016-300| 38 | 30° | 23 [ 4.76x127x5,R32z | 35| 8
18-014-040) 21 | 4 | 9 |5x13x4,695zz| 35| 8 18-016-450| 48 | 45° |22,5] 476x12,7x5,R3zz | 35 | 8
L 18-014-050] 23 | 5 | 10 | 5x13x4,695zz| 35| 8 18-016-605] 53 | 60° | 16 | 476x127x5,R32z | 35| 8
v 18-014-060( 25| 6 | 11 |5x13x4,6952z| 35 ( 8 . 22-016-605| 53 | 60° | 16 | 476x127x5,R3zz | 38 [ 12
Y H18-014-080] 29 | 8 | 12[5x13x4,69522] 35| 8 22-016-607| 73 | 60° | 22 [ 476x12755.Razz | 38 | 12
D 18-014-100] 33 | 10 | 16 | 5x13x4,695zz| 35| 8 22-016-758 | 83 | 75° | 15 | 476x127x5,R3zz | 38 | 12
~ " 18:014-120] 37 | 12 | 18 | 5134, 6952z 35| 8 =
<) T18:014-160] 45 | 16 | 20 | 513x4,6952] 35 | 8 z=2 [/
L 22014-180] 49 | 18 | 22 | 5x134, 6952z] 38 | 12 4
z=2 22:014-200] 53 | 20 | 24 | 5%13x4, 6952z 38 | 12 AN
_ 22-014-250| 63 | 25 | 27 | 5x13x4,695zz| 38 | 12 019 | «om D| R | H| nipumnuuk | L | d
017 | «on D|H|R| h L] d 16-019-010| 10 | 1 | 4 | 3x8x4,693zz | 35| 6
d_ 08-017-020f 4 | 5] 2 35| 8 16-019-015] 11 [ 1,5| 45| 3x8x4,693zz | 35| 6
08-017-030 6 | 7 | 3 35| 8 16-019-020] 12| 2 | 5 | 3x8x4,693zz [ 35| 6
08-017-040( 8 | 8 | 4 35| 8 . 16-019-025| 13| 25|55 3%x8x4,693zz | 35| 6
08-017-050 10| 9 | 5 35| 8 16-019-030] 14 | 3 | 6 | 3x8x4,693zz [ 35| 6
08-017-060| 12| 10 | 6 35| 8 16-019-040]| 16| 4 | 7 | 3x8x4,693zz [ 35| 6
08-017-080| 16 | 11| 8 35| 8 16-019-050] 18 | 5 | 8 | 3x8x4,693zz [ 35| 6
08-017-100| 19 | 13 | 10 35| 8 n 16-019-060] 20| 6 | 9 | 3x8x4,693zz [ 35| 6
08-017-120| 24 | 15| 12 35| 8 . 16-019-080| 24 | 8 | 9 | 3x8x4,693zz | 35| 6
08-017-160| 32 | 18 | 16 3B| 8 16-019-100] 28 | 10 | 9 | 3x8x4,693zz | 35| 6
z=2 z=2 18-019-010| 147] 1 | 4 [476x127x5R32z| 35| 8
18-019-015] 15.7| 1.5 | 4.5 476x127x5,R3zz [ 35| 8
KOA, D|HI|R F h L] d 18-019-020) 16.7| 2 | 5 |476x127x5,R32z| 35| 8
317-030-08| 75| 6 | 3| 15 | 35 |35 8 18-019-025] 17.7| 2.5 | 5.5 [ 476x127x5,R3zz | 35| 8
317-040-081 95| 7 | 4| 15| 45 |35 8 18-019-030] 18.7| 3 | 6 [476x127x5R32z| 35| 8
317-050-08| 12| 9 | 5| 15 6 |35 8 18-019-040] 20.7| 4 | 7 |[476x127x5R32z| 35| 8
317-060-08| 14 | 10| 6 | 1,5 7 |3]| 8 18-019-050| 227 5 | 9 [476x127x5R3zz| 35| 8
317-080-08| 18 | 12| 8 | 1,5 9 |3]| 8 18-019-060| 247 6 | 10 [476x127x5R3zz| 35| 8
317-100-08| 22 | 1510 2 11 | 35| 8 18-019-080( 287 8 | 12 [476x127x5,R3zz | 35| 8
. 317-120-08] 24 | 17 | 12 2 13 | 35| 8 18-019-100( 32.7| 10 | 16 | 476x127x5,R3zz | 35| 8
z=2 18-019-120] 36.7| 12 | 18 | 476x1275,R3z| 35| 8
_ 18-019-1401| 40.7| 14 | 20 | 476x12,7x5,R3zz | 35| 8
018 | «om D|R|H]| ¢ L| d 18-019-150[ 427 15 [ 21 [476xt27s,R3z2 | 35| 8
|-—d——| 08-018-040| 16| 4 | 10 8 35| 8 18-019-160| 447 16 | 22 [ 476x127x5,R3zz | 35| 8
08-018-060| 20| 6 | 12 8 35| 8 18-019-180) 48.7| 18 | 25 | 476x12,7x5,R32z | 35| 8
08-018-080| 24 | 8 | 16 8 35| 8 22-019-200| 52.7| 20 | 25 | 476x127x5,R3zz | 38 | 12
08-018-100( 28 | 10 | 18 8 35| 8 22-019-250| 62.7 | 25 | 32 | 476x12,7x5,R3zz | 38 | 12
08-018-120| 32 | 12 | 22 8 35| 8 22-019-300| 72.7| 30 | 37 | 476x12,7x5,R3zz | 38 | 12
-4 |z 08-018-160| 35| 16 | 25 8 35| 8 22-019-350| 82.7| 35 | 40 | 476x12,7x5,R3zz | 38 | 12
<5 e JT f]* z=2 22-019-400] 92.7| 40 | 45 | 476x127x5,R3zz | 38 | 12




KoA D|H nigwvnimk | L | d 021 |  «on D| H| a| nipwmnamk | L | d
16-020-060) 6 | 18 3x6x2.5, mr63zz| 35| 6 w: 18-021-163] 16 | 30 | 3° |5%16x5 mr625zz[ 35 | 8
16-020-080) 8 | 20 3x8x4,693zz | 35| 6 " 18-021-164| 16 | 40 | 3° |5%16x5, mr625zz| 35 | 8
16-020-100] 10 | 25 4x10x4, mr104zz] 35 [ 6 [ 18-021-165] 16 | 50 | 3° [5x16x5,m62522 35 | 8
18-020-060| 6 | 18 3x6x25, mi63zz| 35 [ 8 22-021-215| 21 | 50 | 3° |12x21x5,6801zz| 38 | 12
18-020-080) 8 | 20 3x8x4,693zz | 35| 8 22-021-216| 21 | 60 | 3° |12x21x5,6801zz| 38 | 12
18-020-101] 10 | 12 4x10x4, mr04zz] 35 8 22-021-282] 28 | 20 | 3° | 8x28x9,6382z | 38 | 12
18-020-102| 10 | 25 4x10%4, mr104zz| 35 | 8 H )
18-020-122] 12 | 25 4x12x4, mib04zz| 35 [ 8 F@ z=2
18-020-103] 10 | 30 4x10x4, mr04zz] 35 8 = '
18-020-123] 12 | 30 4x12x4, mib04zz| 35 [ 8 -
18-020-143] 14 | 30 5x14x5, mr605zz| 35 | 8 3_21 I Kon D H a nigwmnHmk | L | d
18-020-163] 16 | 30 5x16x5, m62522] 35 | 8 <4 22-321-215] 21 | 51 | 30 [ a=6s01,B=6801] 38 | 12
18-020-104| 10 | 40 4x10x4, mr04zz] 35 8
18-020-124| 12 | 40 4x12x4, mib04zz| 35 [ 8 RE— A= 12x21%5, 680122
18-020-144] 14 | 40 5x14x5, mr605zz] 35 | 8 2 B = 12x21%5, 680122
18-020-164] 16 | 40 [ [5x16x5,mr62522] 35 | 8 SO z=2
18-020-105] 10 | 50 | [4x10x4, mr104zz] 35| 8 I —
18-020-125( 12 | 50 4x12x4, mr604zz| 35 [ 8 _—
18-020-145] 14 | 50 5x14x5, mr6052z| 35 | 8 b &S
22-020-127[12.7| 51 4.7x12.7%5,13zz| 38 | 12 026 | «on D|H|[a| nipwmnemk | L | d
18-020-203] 20 | 30 5x14x5, mi6052z[ 35 | 8 d 18-026-164 | 16 | 40 | 30 [5x16x5, m62522| 35 [ 8
_18-020-204] 20 [ 40 5x14x5, mi60522] 35 | 8 & 22-026-165] 16 | 50 | 3° [5x16x5, m62522] 38 | 12
023 kop | D | H | z| nigwansmk | L | d L 22-026-196] 19 | 60 [ 3° [5x16x5 mi62szz] 36 | 12
d 18-023-123] 12 | 30 | 3 [4x12x4, mi604zz| 35| 8
“ 18-023-143] 14 [ 30 [ 3 [5x14x5,mre0527] 35 | 8 S+ z2=2x2
18-023-163| 16 | 30 | 3 [5%16x5, m62522] 35 | 8
1. 18-023-124] 12 [ 40 | 3 [4x12x4, mr60azz| 35 | 8 H
18-023-144| 14 | 40 | 3 [5x14x5, m60522] 35 | 8 P 1
1+  18-023-164| 16 | 40 | 3 [5x16x5 mr62522| 35 [ 8 > NN P
18-023-165] 16 | 50 | 3 |5%16%x5 m625zz 35| 8 ‘
H 2:023215] 21 | 50 | 3 |12:21%5, 680122] 38 | 12
| o 22-023-216] 21| 60 | 3 |12x21x5,6801zz| 38 | 12 Kop D|H niguvnank | L | d
, J— 18-027-121] 12 12 8xt2x35,mr126zz| 35 | 8
LQ» @ — 18-027-122] 12 | 20 812635, mri2ezz| 35| 8
~ : 18-027-123] 12 | 30 8x12x35, mr28zz | 35 | 8
024 koA D H| z nigwvnavk | L | d 18-027-1241 12 | 40 8x12x35,mr128zz| 35| 8
d 18-024-123| 12 | 30 | 4 [4x12x4, mr604zz| 35| 8 18-027-163] 16 | 30 8x16%5, 6882z | 35 | 8
ol 18-024-143] 14 | 30 | 4 [5x14x5,m60522] 35 [ 8 18-027-193] 19 | 30 8x19x6, 6982z | 35 | 8
18-024-164| 16 | 40 | 4 [5x16x5,m62522] 35 | 8 18-027-164| 16 | 40 8x16%5, 6882z | 35 | 8
18-024-165] 16 | 50 | 4 |5%16x5, m62522] 35 | 8 18-027-194] 19 | 40 8x19%6, 6982z | 35 | 8
22-024-215] 21| 50 | 4 [12x21x5, 680122] 38 | 12 22-027-214] 21| 40 12x21x5,68012z] 38 | 12
22-024-216] 21| 60 | 4 [12x21x5, 680122] 38 | 12 22-027-215] 21 | 50 12x21x5,68012z| 38 | 12
H [ |
7 D z=2
— 1 < B
N )
LL)I_ | KoZa D| H| z | nipumnuuk | L | d
025 koA D[ H]| z| nigwmua | L] d 16-327-102] 10 | 12 |2+1|Double 6x10x3] 35 | 6
<4 22.025-216] 60 | 21 | 16 [12x21x5,68012] 38 | 12 18-327-121| 12 | 10 |2+1| ext2x35, mrizezz| 35 | 8
. 18-327-122| 12 | 20 [2+1|8xt2x35, mri28z| 35 | 8
! 18-327-161] 16 | 15 |2+1] 8x16x5,688zz| 35| 8
¥ ] 18-327-163] 16 | 20 |2+1] 8x16%5, 6882z 35| 8
L,L[' H / / p
i 7| /_[ [ 3
1. -




KoA D| H| z| nigwnnuug | L | d 030 |  «on D|H nigwmnimk | L | d
18-028-163| 16 | 30 | 3 |8x16x5,688zz 35| 8 49 18-030-020] 33 ] 2 5x13x4, 6952z | 50 | 8
18-028-193[ 19 | 30 | 3 [8x19x6,698zz| 35 | 8 18-030-025] 33 [ 2,5 5x13x4, 6952z | 50 | 8
18-028-164| 16 | 40 | 3 |8x16x5,688zz 35| 8 18-030-030[ 33 | 3 5x13x4, 6952 | 50 | 8
18-028-194] 19 | 40 | 3 [8x19x6,698zz 35| 8 [ 18-030-040] 33 | 4 5x13x4, 6952z | 50 | 8
18-028-165| 16 | 50 | 3 |8x16x5,688zz| 35| 8 * 18-030-050[ 33 | 5 5x13x4, 6952z | 50 | 8
22-028-215] 21| 50 | 3 [12x21x5, 680122] 38 | 12 «——D—18-030-060| 33 | 6 5x13x4, 6952z | 50 | 8
22-028-216] 21 | 60 | 3 [12x21x5,680122] 38 | 12 18-030-080] 33 | 8 5x13x4, 6952z 50 | 8
V7 18-030-090| 33 | 9,5 5x13x4, 6952z 35| 8
@ -\ | 18-030-100] 33 [ 10 5x13%4, 69522 50 | 8
— 22-030-100] 33 | 10 5x13x4, 6952z | 50 | 12
Koa D| H| z | nipuunauk | L | d 18-030-120] 33 | 12 5x13x4,695zz| 50 | 8
18-328-123| 12 | 30 | 4 [ext2xas mizezz| 35| 8 22-030-120] 33| 12 5x13x4, 6952z | 50 | 12
18-328-124| 12 | 40 | 4 [ext2xas,mizez| 35| 8 18-030-140] 33 | 14 5x13x4, 6952z | 35 | 8
18-328-164| 16 | 40 | 4 | 8x16x5, 6882z| 35 | 8 22-030-140] 33| 14 5x13x4, 6952z | 50 | 12
18-328-165| 16 | 50 | 4 | 8x16x5,688zz| 35 | 8 18-030-160| 33 | 16 5x13x4, 6952z | 35 | 8
22-328-215] 21 | 50 | 4 [12x21x5,6801z] 38 | 12 18-030-180] 33 | 18 5x13x4, 6952z | 35 | 8
22-328-216] 21 | 60 | 4 [12x21x5,6801z2] 38 | 12 18-030-200] 33 | 20 5x13x4, 6952z | 35 | 8
- PN 18-030-250| 33 | 25 5x13x4, 6952z 35| 8
“u,- - 22-030-300] 33 | 30 5x13x4, 6952z | 38 | 12
: ] 22-030-105] 56 | 10 5x13x4, 6952z | 38 | 12
Koa D| H| z | nipumnauk | L | d 22-030-056| 66 | 5 5x13x4,695zz| 38 | 12
22-029-216| 21 | 60 |2+16[12x21x5,6801zz| 38 | 12 031 | «on D|H nipunimk | L | d
— 18-031-020] 40 | 2 5x13%4, 69522 | 50 | 8
" .. 18-031-025] 40 | 2.5 5x13x4, 6952z | 50 | 8
r ol » | E 18-031-030{ 40 | 3 5x13x4, 6952 50 | 8
+ - B N ) H 18-031-040| 40 | 4 5x13x4,6952z| 50 | 8
i e 18-031-050] 40| 5 5x13x4, 6952z | 50 | 8
\ \ ~ D . "8.031-060] 40 | 6 5x13%4, 6952z | 50 | 8
Vg " @ 18-031-080] 40 | 8 5x13%4,69522| 50 | 8
A\ = (= 18-031-100| 40 | 10 5%13x4, 6952z 50 | 8
ol . , 18-031120] 40 | 12 | | 5x13x4, 69522 50] &
S ®= ~ T18.031-035| 50| 3 5x 1374, 69522 | 50| 8
032 | «onm D| H L] d 18-031-045| 50 | 4 5x13%4,6952z| 50| 8
d 08-032-020] 33| 2 35| 8 18-031-055 | 50 [ 5 5x13x4, 6952z | 50 | 8
_ 08-032-030[ 33| 3 35| 8 z=3 18031065 | 50 | 6 5x13x4, 6952z | 50 | 8
08-032-040] 33| 4 35| 8 18-031-085 | 50 [ 8 5x13x4, 6952z | 50 | 8
(=1 08-032-050] 33 [ 5 35| 8 18-031-105] 50 | 10 5x13x4, 6952z | 50 | 8
> T08-032-060] 33| 6 35| 8 034 | «on D|flal H|] nh [L]d
- 08032:080[33] 8 35| 8 1 08-034-000] 14 [ 3 [ooo| 10 | 55 [35] 8
NL 08-032-100] 33 | 10 35| 8 . 08-034-091] 18 [ 3 [ooe] 13 | 75 [5] 8
== 08-032-120] 33 | 12 35 8 a 08-034-092 | 222| 3 |90°| 171 | 95 | 35| 8
z=2 08.032-160] 33 [ 16 35] 8 ‘ > 08-034-135[ 22 [ 2 [135] 10 [ 41435 8
033 | «on D|H/| z| nipuunumk | L | d "y v
: 18-033-030] 36 | 3 | 4 | 8x16%5,6882z 35 | 6 N P 995‘7['
. T18:033.040| 36 | 4 | 4 |8x16%5 68822 35| 8 =2 [>T \J
o 18-033-050( 36 | 5 | 4 |8x16x5,688zz| 35| 8 LBl -» ¢
. 18033060 36 | 6 | 4 [8x16x5,68822 35| 8 035 | «on D|a|c| H L
< P 4 18033-080] 36 | 8 | 4 [8x16x5 688zz] 35 8 d 08-035-300] 26 [ 300] 12| 127 35
_, - ‘— 18-033-100| 36 | 10 | 4 | 8x16x5,688zz]| 35| 8 1 08-035-450| 25 | 45°| 10| 8 35
N 4 -
036 | «on D|R H z | L] d Rl B2
N 08-036-030| 24| 3 | 6 | 14 2 |[35] 8 A\ 7.H ’ \f‘*/;c z=2
08-036-040| 26 | 4 [ 8 | 15 2 |3 8 ~
L 08-036-050| 27 | 5 [ 10| 16 2 |3 8 |  «om D| R | H | nipuunuuk |B, h| d
08-036-060] 30| 6 [12] 185 2 [35] 8 18-037-100| 24 | 10 | 24 [5x16x5, m62522] 18| 8
R m 08-036-080[ 32| 8 [16] 22 | 2 [35] 8 18-037-147| 26 [14.72] 30 [5x16x5, mi62522[ 222 8
L 08-036-100{ 35 [ 10 [20] 28 | 2 [35] 8 22-037-320] 28.5| 32 | 47 |5%16%5, 62522 38 | 12
L—J’ .~ 08-036-120] 40 [ 12 [ 22| 34 | 2 [35] 8
( f - 12-036-140[ 48 [14[28] 36 [ 2 [38] 12 z=2
SO 12036160 52 [ 16 [ 32] 39 [ 2 [ 12




040 | «on D|H L] d 041 | «on D[ H L] d
08-040-120] 12 | 18 35 8 <., 08-041-350| 35 | 12 5[ 8

pLN 08-040-150] 15 | 18 35| 8
08-040-153] 15 | 18 9| 8 [ z=2
08-040-160] 16 | 18 35| 8 L
08-040-180] 18 | 18 35| 8

Ei 08-040-200] 20 | 18 35| 8 D JIH @ = \2/
v+ 08-040-203] 20 | 18 0| s ‘ —
“~ 08040220 22 | 18 35| 8 _

7= D 08-040-250| 25 | 18 35| 8 042 | «on z D H L] d
08-040-260| 26 | 18 35| 8 08-042-350 18 5[ 8
08-040-280| 28 | 18 35| 8 -

08-040-300] 30 | 18 %] 8 > / %
08-040-320] 32 | 18 35| 8
08-040-350| 35 | 18 3B 8 046 | «om R | nigwvnumk | L | d
08-040-400] 40 | 18 35( 8 : 18-046-040 30 12 4 | 5x13x4,6952z| 35 | 8
08-040-450| 45 | 18 35| 8 18-046-060| 38 | 16 | 6 [5x13x4,6952z| 35| 8
08-040-500| 50 | 18 35| 8 18-046-080| 45 | 20 | 8 [5x13x4,6952z 35| 8
12-040-550 | 55 | 18 38| 12 22 z=2
12-040-600| 60 | 18 38| 12 ! 1777
12-040-680] 68 [20.5 38 | 12 047 | o | D| H|R]| nigwanamk | L | d
|  «on D | H | R jauunHuk L| d 4. 18-047-040] 30 | 12 | 4 |[5%13x4,695zz| 35| 8
18-043-040] 33 | 12| 4 |3x4,6952z [ 35] 8 18-047-060| 38 | 16 | 6 [5x13x4,6952z| 35| 8
18-043-060| 40 | 16 | 6 |3x4,6952z [ 35] 8 L 718-047-080| 45 | 20 | 8 [5x13x4,6952z| 35 | 8
18-043-080] 50 | 20 | 8 Jox4.6952z | 35] 8 R “H —

B [JA‘ z=2

- - bE L /

044 | Kog D | H | R jawunHuk L| d | KoZa D| H| R | nigumnuuk | L | d
18-044-040] 30 | 12| 4 |3x4,6952z [ 35] 8 18-048-040| 33 | 12 | 4 [5x13x4,6952z| 35| 8
18-044-060[ 38 | 16 | 6 |3x4,6952z [ 35| 8 18-048-060| 40 | 16 | 6 [5x13x4,6952z| 35| 8
18-044-080( 45 | 20 | 8 |3x4,6952z | 35| 8 18-048-080| 50 | 20 | 8 [5x13x4,695zz 35| 8

o z=2 W

- - /777 5 j z=2

045 | «on D | H | R jauunHuk L|d

A 18-045-040| 32 | 14 | 4 )3x4,6952z 35| 8 KoA D| H|R| nigwmnuuk | L | d

ETL 18-045-060| 40 | 18 | 6 |3x4,6952z [ 35| 8 18 053-040( 41 | 16 | 4 [5x13x4,6952z| 35] 8
= 18-045-080| 50 | 22 | 8 |3x4,6952z [ 35] 8 { . 18-053-060] 52 [ 22 [ 6 [5x13x4, 69522 35 | 8
R S z=2 22-053-080| 65 | 22 | 8 |5x13x4, 6952z 38 | 12
D HI'\‘: IR *\:\ } z=2
04_ | Kof D | H | R jawunHuk L| d D
& 18:049040] 29 | 12 | 4 |3%4,695z | 35] 8 054 | o8 | D] H|R| nigumnmk | L] d
18-049-050[ 31| 13| 5 |3x4,6952z [ 35| 8 -4 18-054-040| 38 | 16 | 4 |5x13x4,6952z] 35| 8
_18-049-060[ 33 [ 14 | 6 J3x4,6952z [ 35] 8 18-054-060| 50 | 22 | 6 [5x13x4,6952z] 35| 8
H S o R 18:049060] 38 [ 16 [ 8 Jaxa 69522 [ 35 @ .
:Bm J 18-049-100| 42 | 18 | 10 J3x4,6952z | 35 8 P 0 z=2
o 18-049-120( 46 | 20 [ 12 }3x4,695z | 35| 8 iz
g\/ 3 1 z=2 Kon D| H| R | nipumnauk | L | d
i 18-055-040| 38 | 16 | 4 [5x13x4,6952z 35| 8
| Koa D | H | R jauunuuk L| d 18-055-060| 50 | 22 | 6 |5%x13x4,695zz| 35| 8
18-051-040] 30 | 10 | 4 |3x4,6952z [ 35] 8 22-055-080[ 62 | 30 | 8 [5x13x4,6952z] 38 | 12
18-051-060| 38 | 14 | 6 |3x4,6952z [ 35] 8 .\ <
L 18051080 45| 18 | 8 |3x4,6952z |35 8 B S -2
D <y |
H S =7 =2 KoZa D| H| R | nipwmnuuk | L | d
(e s« 18-056-040[ 40 | 14 | 4 [5x13x4,69522[ 35| 8
f L 18:056-060] 53 | 20 | 6 |5+13x4, 6952z 35| 8
| «on D | H [ R jaumnnmnk L|d 2 5 Z‘VD i N
18-061-040| 33 | 8 | 4 |3x4,6952z 35| 8 1 N z=2
18-061-060 | 40 | 10 | 6 |34, 6952z 35| 8 D)
i 18-061-080| 50 | 12 | 8 J3x4,695z | 35| 8
z=2




5%x16x5, mr625zz

062 | «on H| R nigwmu [ L] d 065 ] roa D| H|R]| nigumank | L | d
—>|—|ea 18-062-040 8 | 4 |5%13x4,695zz| 35| 8 S 18-065-040| 33 | 8 | 4 [5%13x4,6952z]| 35| 8
L 18-062-060 10 | 6 |5%13x4,695zz| 35| 8 . 18-065-060| 40 | 10 | 6 |5x13x4,695zz| 35| 8
i | !1 18-0627980 12 | 8 |5x13x4,695zz| 35| 8 % 18- 065 080| 50 | 12 | 8 |5x13x4,695zz| 35| 8
R ! B SR c\d 222
06_3 Koq H | R | niguunuuk | L | d 066 |  «on D| H|R | nipumnuuk | L | d
= 18-063-040 10 | 4 |5%13x4,6952z| 35| 8 18-066-030] 40 | 12 | 3 |5x13x4,695zz| 35| 8
18-063-060 12 | 6 |5%13x4,6952z| 35| 8 [ 18-066-040| 50 | 16 | 4 |5x13x4,695zz| 35| 8
= ; 18- 063 080 14 | 8 | 5%13x4,6952z| 35| 8 = 22-066-050 63 | 20 | 5 |5%13x4,695zz| 38 | 12
tf B . é /, z=2
064 | Koa H | R| nipwunuuk | L | d Kon D| H| R | nigumnunk | L | d
. 18-064-040 8 | 4 |5%13x4,695zz| 35| 8 18-067-030] 40 | 12 | 3 |5x13x4,695zz| 35| 8
r  18-064-060 10 | 6 |5%13x4,6952z| 35| 8 18-067-040] 50 | 15 | 4 |5x13x4,695zz| 35| 8
. 18-064-080 12 | 8 |5x13x4,695zz| 35| 8 22-067-063 | 63 | 19 |6.35| 5x13x4, 695zz| 38 | 12
V... N - H —
4 z=2 € 9 z=2
LD T iz
_068 | o H | R| nigumniuk [ L | d KoA D| H|R| nigwmnuug | L | d
o 18-068-400 8 | 8 |5%13x4,695zz| 35| 8 18-078-100] 41 | 10 | 24 | 5x13x4,695zz| 35| 8
L 18-068-500 10 | 8 | 5%13x4,695zz| 35| 8 18-078-120) 45 | 12 | 26 | 5x13x4,695zz| 35| 8
: 22-068-640 11 | 12 | 5%13x4,695zz| 38 | 12 22-078-140| 51 | 14 | 28 | 5%13x4, 695zz| 38 | 12
& — z=2 .
€ ——T z=2
| Koz H | R | niguvnuvk | L | d N
18-071-250 | 25.4| 30.2 [6.35] 5%13x4, 6962z 35 | 8 L r“
18-071-300]30.1| 35 |8.7] 5%13x4,695zz| 35| 8
22-071-350 40 | 10 | 5%13x4,695zz| 38 | 12 KoA D| H | B | nipuunamk | L | d
e < 18-094-190| 19 | 25 | 4.7 | 5x13x4,695zz| 35| 8
. / z=2 18-094-240] 24 | 35 [ 5.5] 5x13x4,69522[ 35| 8
. 7 22-094-270| 27 | 42 | 7 | 5x13x4, 6952z 38 | 12
[T £\
I z=2
| «on H [R1R2] niguwwnevk | L | d
18-093-250 20 | 4/6 | 5%13x4, 6952z 35| 8 -B-D
18-093-290 25 | 6/8 | 5%13x4,695zz]| 35| 8 i X
‘ 097 | «on D| H| R | nipumnauk | L | d
Y <9 18-097-250| 25 | 35 | 4 |5x13x4,6952] 35 | 8
g 22-097-300| 30 | 40 | 5 | 5x13x4,695zz| 38 | 12
J_Zz//l | b
f R gy z-=2
et 1 H 7y l
098 | «on H|R| nipumnwmk | L | d | 4\ J‘
< 22-098-550 | 55.5| 28.6 | 7.5 [5x16x5, mi6252z| 38 | 12 Bl @(# /]
B o b 2
099 | «kon H [rRRZ nigwunumk | L | d
= 22-099-420 51 [12115 38| 12




] 7|

/5

+ 08-101-060| 30 | 20
).
R

-

W

101 | «oa D|H|R L] d |  «on D R d
< 08-101-030] 15| 10 | 3 351 8 08-103-030( 15 3 8
| 08-101-040] 20 | 12 | 4 35| 8 08-103-040( 20 4 8
08-101-050| 25| 15| 5 351 8 08-103-050| 25 5 8

- 6 351 8 08-103-060( 30 6 8

D 7y
104 | «on D|H|R| h | ¢ |[L|d | kom | D

08-104-060( 24 [ 14 | 6 [ 12 | 45 |35] 8 08-102-030 15

z=2 08-104-080( 28 | 18 | 8 | 16 | 55 | 35| 8 08-102-040( 20

08-102-050 | 22

oo|oo|oo |

|  «on D

08-107-030( 20

|~ |lw|o
|0 |

Nf/ w1 06-108080] 36

konm | D|H|R| h L] d 08-107-040] 24

08-105-060| 19 | 15| 6 | 10 3| 8 08-107-050] 25

_ 08-105-080| 22 [185[ 8 | 14 | 6 |35] 8 B G st

_ 08-105-100] 24 [225] 10| 18 | 7.8 |35] 8 Ty

- . 08-105-120| 28 [ 27 [ 12| 22 | 8 |35] 8 108 | «on D d
‘ e e A . 08-108-030] 16 8
z=2 l . 08-108-040] 22 8
Ty ~ 708-108-060] 28 8
C R 8

109 | «on D[H|R[ h L] d . D 1 S A
P _08-109-127]34.9]159]12.7] 9 5 8 e )

, 08-109-518] 50 | 17 | 18] 10 40| 8 I
] 112 |  kon D

2=2 S 08-112-030( 22

08-112-040( 28

116 | kon D

R L|d L — 08-112-050| 34
- 08-110-030] 22| 6 [ 3 35| 8 k> o
08-110-040{ 28 | 8 | 4 35] 8 -
5 35| 8

[N, 08-110-050] 34 | 10
D

o |o|oo|a

" 113 | wa 0D R d
> - z2=2 < _08-113-030] 22 3 8
S [ 08-113-040| 28 4 8
11 [ wm | D] H]|R L] d . 08-113-050| 34 5 8
4 08111030 22| 6 | 3 35| 8 SN2
ﬂ . 08-111-040] 28 | 8 | 4 35| 8 e
qop 08111-050[ 34 0| 5 5| 8 4
b NRR \\\<§\;va“} z=2 [ |
B Kop D h d
14 | wm |D|H|R|] h] c|L|d 08-115-160| 16 5 8
4 08-114-060] 22| 6 [ 6| 4 | 10 |35] 8 " 08-115-220| 22 6 8
08-114080] 28 | 8 | 8| 5 | 13 | 35| 8 08-115-280| 28 7 8
oo 08114100 3410 [10] 6 [ 16 [as] 8 8211:238 23 ; g
D R o - Z
- z=2 08-115-500 50 9 8
e B )y T//
Ko D|H|R]| n L] d 12: |  «on D d
08-121-400| 40 | 10 |425] 5 35| 8 ST 08-122-400] 40 8
08-121-500| 50 | 11 | 55| 6 35| 8 : 08-122-500| 50 8
12-121-600| 60 | 12 |675] 7 38| 12 - 12-122-600| 60 12

8OKOHaHHs - anti-kickback s




124 | «om D|[H|h|rRR|] ¢ [L] d 12: |  «om D[H|h|[rRIR| ¢ [L] d
- 08-124-400] 40 [ 10 s [ 815 | 8 [35] 8 2. 08-125-400] 40 [ 11 7 16 [35] 8
v 08-124-500] 50 | 9 | 9 [8s5m30] 10 [35] 8 ' . 08-125-500] 50 | 13| 9 [1821] 22 [35] 8
A - -124- ) 195
T 1212460? 69 10 [ 111030 12 38 ] 12 Rz 1212?6& %579777777716 112021 24 [38] 12
S % z=2 IR z=2
126 | wa [D|H[h[RRe] c L[ d 131 _] m [D[H[h[ R c|L[d
= . 08-126-400] 40| 12 7 8 |35] 8 S 08131-400[ 40 [ 106 ] 4 | 8 [35] 8
Lﬁ 08-126-500] 50 | 13 | 8 [8520] 10 [35] 8 «08-131-500] 50 [115]85] 5 | 10 [35] 8
sl 12-126-600] 60 | 14 | 9 12 [38] 12 W 2w 12-131-600] 60 [ 12795 5 | 12 [38] 12
P - A e g 22 a=10°
T&.*_.\/I/i—] z=2 _ -
_ S 132 | «on D|H|[c|[rRR] z [L]d
129 | von [D[H[h[ R [ c[L[d 08-132-349[34.9| 95| 8 [ 155 | 2 [35] 8
< 08-129-400] 40| 9 | 5 10 [35] 8 < . -
i 08-129-500] 50 [ 12 7 [ 20 | 11 [35] 8 _L7 ,/qm
oA 12-129-600] 60 [ 14 | 9 12 [38] 12 e
| fD g -_ z=2 N <
= H _— r
130 | «on D|H|h]|DI[D2[L]d b S
08-130-236 [ 236 | 18 [16.2] 102 | 196 | 45| 8 133 | «on D|H|c|[RR|] z [L]|d
08-130-300] 30 | 195[175] 11 | 21 | 45] 8 12-133-666|66.6] 12 [ 12| 8110 | 2 [38] 12
08-130-381 [ 38.1 [ 207[ 17| 171 [ 223 [45] 8 . N W
C"} |__xon R1 | R2 | R3] L ,;3/\\ “/RJ
L L0 08130236 | 47 | 25 | 2 —
el 30 5 | 25 | 2 MR &<~§ o
z2=2 08-130-381 | 6 | 18 | 3 "D -
150 |  «oa D| H|N| nipuunuk | L | d
136 | a [D[H[h[DI[D2]L]d 4. 18-150-305] 22 [ 30 [ 5 [5%16%5, mr625zz] 35 8
08-136-300 30 |195| 10| 11 | 24 | 45] 8 18-150-410{ 20 | 40 | 10 [5x16x5, mi62522| 35 | 8
22-150-548| 26 | 54 | 8 |5x16x5, mr625zz| 38 | 12
|  «on R1|R2] S8, 22-150-549| 25 | 54 | 9 [6x19x6, m62622| 38 | 12
08-136-300[ 5 | 3 NS
< 8 $ $ z=2
z=2 . o
Kop D|H nipumnevk | L | d ? —
18-151-400| 33 | 40 6x19%6, m62622| 35 | 8 157 _] ko [D]H L d
22-151-500] 33 | 50 6x19%6, mr62622] 38 | 12 ~S«  12-157-480] 48 [ 30 38| 12
7 f iy \5}:
g o Hv <J;; \\\’\\\S\Z ?
WY/ e D .
kop | D | H L] d 158_] «om [D]H L] d
‘ 08-154-500] 50 | 22 | 7 5] 8 S 08-158-450] 45 [22.2 5] 8
£ _ 12-154-700|69.8| 32 38 | 12 [< o o
B ) ) z=2
=Vt E{ | z=2 <“’f"'; «
e w )  S—— 166 wam [DJH][K L] d
164 | «on D| H|B| niguunamk | h | d ie D+ 08-166-095| 9.5 | 9.5 |4.75 35| 8
20-164-480 | 48 |1240] 10 | 8x28+0,6362z | 4 | 12 H“.T'K 08-166-127[12.7] 95| 8 35| 8
d [y
L @/ z=2
Y ‘.r' /




200 | «a [D[H[RJpummm [ L] d 202 | xoa [ D [Hih[RRe nigwmnhmk |Lic] d
22-201-730| 73 | 12 | 30 }3x4, 6952z 38| 12 22-202-730| 73 | 12/5]3/20]| 5x13x4, 6952z | 38/7| 12
22-201-830| 83 | 13 | 30 J3x4, 6952z 38| 12 22-202-830| 83 |13/6]3/20]| 5x13x4, 6952z | 38/9| 12
22-201-930( 93 | 14 | 30 J3x4, 6952z 38| 12 22-202-930| 93 | 14/6]3/25]| 5x13x4, 6952z | 38/9| 12
22-201-103 | 103 | 15 | 30 J3x4, 6952z 38| 12 22-202-103 | 103 | 15/6] 3/30| 5x13x4, 6952z [38/1q 12

wdy

204 | «a [D[H[RJpummm [ L] d 205 | kon [ D [ H [WR] nipwmnnnk | L | d
22-204-730( 73 | 12 | 30 }3x4, 6952z 381 12 18-205-500| 50 | 10.4] 3/3 | 5x13x4,695zz| 35| 8
22-204-830| 83 | 13 | 35 J3x4, 6952z 38| 12 22-205-600| 60 | 13.5]4.5/4| 5x13x4,695zz| 38 | 12
22-204-930| 93 | 14 | 40 J3x4, 6952z 38| 12 .d,

22-204-103 | 103| 15 | 45 J3x4, 6952z 381 12 I 0=15°
hd» z=2
L
. H| ! 0
| . .C R
k D N D F
2117 | ®a [ D[R [ Hlawmm [ L] d 212 | «on [ D [reRe[HI] niawnnnux [LIC[ d
d 22-211-430| 43 | 30 | 50 }3x4, 6952z 381 12 L, 22-212-430| 43 |20/3|50/4] 5x13x4, 6952z | 38/10| 12
z2=2
z=2
H
R
5
230 | roa D |BR| H |awnnhuk L] d 2:0 | «on D| B|H| nigwmnumk | L | d
@ 22-230-500| 50 |17/5] 21 J6x5, 6882z 38| 12 18-220-400| 41 1 9.5| 6 |8%x22x7,608zz| 35| 8
@ 40 112/5] 13 |65, 6882z 38| 12 22-220-47647.6| 12.8]6.35| 8x22x7,608zz| 38 | 12
[
K .Y z=2
%)

& | «on D| B | H/| nippunamk | L | d nipwmnimk | L | d
18-232-420| 42 | 13 | 24 | 8x16%5,688zz| 35| 8 8x16x5,688zz| 35| 8
22-232-420| 42 | 13 | 24 | 8x16x5,688zz| 38 | 12 ;

i - O
il
]
!
2_3 |  «on D | B | H |gumnHuk L] d
18-233-420| 42 | 13 | 24 )6x5, 6882z 35| 8
22-233-420] 42 | 13 | 24 )6%5, 6882z 381 12




ZM | «xoa D| B|H]| nigwinm | L[ d 2__5 |  «xoa D| B | H| nigwme [ L[ d
18-234-420) 42 | 13 | 24 | 8x16x5,688zz| 35| 8 18-235-420) 42 | 13 | 24 | 8x16x5,688zz| 35| 8
22-234-420| 42 | 13 | 24 | 8x16x5,688zz| 38 | 12 22-235-420( 42 | 13 | 24 | 8x16x5,688zz| 38 | 12
1d =T
1 46 L L z=2 z=2
| A 10
H P o
= et = a
B, D I 1l T
_36 | «on D | H | B jawunuuk L| d 2_ |  «on D/S| H | h |gwvnHuk L| d
6x5,6252z | 35| 8 (D 22-239-560 | 56/36| 25.25| 5 J6x5 6882z | 38 | 12
() 56/56|25.25| 5 |6x5, 6882z 38| 12
z=2 @ 137 8 |6x5, 6882z 35| 8
z=2

242 | wa [DJOJH L] d 243 | wom [D] c[H[ HI L] d
08-242-370| 37 [225°[22.2 35| 8 (D 12-243-330] 33 [ 85]415] 85 38 [ 12
12-242-440 | 44 |225°| 30 38| 12 ©)] 33| 8 [445] 85 38| 12

11 I @ @
d d
z=2 Ao d, ) )
L L
II r % 7
‘% gR=C i
240 | wn [D[H][B L] d _“ipl o
(D 12-244-318(31.8[73.9] 6.4 38| 12 246 | «on D | H| B |awunuuk L| d
©) 31.8] 40 | 64 38| 12 () 22-246-280] 72| 15[ 28| - 38| 12
Q4 O s . ©) 3x4,6052zz | 38 | 12
[ . !E z » z=2 -
D, . H \’
| <DU i »
. ©




Kop DR| H L|d Kop, DL| H L| d
10-500-150] 15 | 57 30| 10 10-501-150] 15 | 57 30| 10
10-500-200] 20 | 57 30| 10 10-501-200] 20 | 57 30| 10
10-500-350] 35 | 57 30| 10 10-501-350] 35 | 57 30| 10
RIGHT LEFT
iz iz
D.R
510 |  «on D.R| H | H2 L|d KoA D.L| H | H2 L| d
10-510-050 5 575 27 271 10 10-511-050| 5 [575] 27 27| 10

RIGHT  10-510-080 575 27| 10 LEFT 10-511-080| 8 |575( 27 271 10
m |
i

512 | «on DR H H2 L] d 513 | «xon [DL| H [H2 L] d

RIGHT 10-512-045 301 10 LEFT 10-513-045] 45| 70 | 35 301 10

514 | «on D.R H H2 L] d 515 | «kom |DL| H [H2 L] d

RIGHT 10514070 201 10 20] 10

_;

012 | Koa D|D1|H L1 L| d E | Koz D| H nigpwvnemk | L | d
apantop ana  012-810-00( 19 | 10 | 20 27 | 62| 8 <D,‘ 18-557-193] 19 | 30 5x19x6, 635zz| 35| 8
NpNUCaa0YHMX Wd, A 2= 18-557-194| 19 | 40 5x19x6, 635zz| 35 | 8

csepan ' p 22-557-215( 21 | 50 12x21x5, 68012z 38 | 12

_ - # z=2
0 rBuHTM, M3.5 Hoxi:
H L1 *4 A *
J VM-02-35 30*14*2mmj
TN 40*14*2mm
_ D J 50*14*2mm
5_3 | «xoa D| H|B| niguwmnank | L | d
22-553-464 | 46 | 14 | 15 | 5%16x5,625zz| 60 | 12 Kon D|H nigwmnimk | L | d
18-558-193] 19 | 30 8x19x6, 698zz| 35| 8
rBuHTH, M5 z=2 18-558-194] 19 | 40 8x19x6, 698zz| 35| 8
VM-06-57 22-558-215( 21 | 50 12x21x5,68012z| 38 | 12
Hoxi: z=2
14*14*2mm rBuHTY, M3.5 Hoxi:
VM-02-35 30*14*2um|
KOp, z | D |oH| amiHHiHOXi | L | d 40*14*2mm
12-554-400| 2 | 40 | 14 14x14x2 38| 12 50*14*2mm
12-554-600] 3 | 60 | 14 14x14x2 38| 12
rBUHTU, M5
VM-06-57




600 | oz | D] H L] d 604 | kn [DJ]H L] d
4. 08-600-060] 6 | 30 65| 8 R:-D-03604-031[ 3 | 12 4] 3
08-600-080] 8 [ 32 65| 8 04-604-041] 4 | 14 40| 4
03-600-031] 3 [ 12 E ra—
04-600-041] 4 [ 14 4] 4 L -
L 06-600-062| 6 | 25 60| 6 [z | abe
08-600-083| 8 | 30 60 | 8 [\T
H B < d,— 7 N 5 V|
oz 605 | xa |[DJ]H L] d
— R D 03-605-020] 2 [ 8 | 3 40] 3
6017 | a [DJ[H L] d | 03-605-031] 3 [12] 3 40] 3
) 03-601-031] 3 [ 12 40| 3 ‘H 04-605-041] 4 [14] 4 40] 4
g 04-601-041] 4 [ 14 40 4 | 04605.042] 4 [20] 4 50 4
04-601-043] 4 [ 25 55| 4 06-605-061| 6 [ 20] 6 50 6
A 06-601-062] 6 [ 20 46| 6 06-605-062 6 [ 25| 6 60 6
4 06-601-063| 6 [ 30 60| 6 08-605-084] 8 | 40| 8 80| 8
06-601-064] 6 [ 40 80 [ 6 . " [[z=2_]
06-601-065 6 [ 50 100{ 6 -
D 08-601-083] 8 [ 30 60] 8 -
08-601-084] 8 [ 40 80| 8
y | 08-601-085] 8 [ 50 100[ 8 606 | «a [R|D]JH L] d
12-601-124] 12 | 40 80 [ 12 R D 31-606-031] 1,59 3,175 18 54 [3.175
1, 12-601-125] 12 | 50 100{ 12 | ‘ 06-606-060] 3 | 6 |32 0] 6
12-601-127] 12 [ 70 130[ 12 H 08-606-080| 4 | 8 |42 80| 8
12-601-129] 12 [ 100 165] 12 . )
e o — ﬁ\,gy
609 | «om L] d R (K L4t
LR 03-609-140 a0 3 —
| T04-609-140 20| 4
hp 05809361 0rs] w [82° 60 6 610 | «m |[R[h]O L]d
. +° [06609380] 05| w | & 80| 6 - 04-610-197] 08 | 197] 7° 50| 4
06-609-381[ 075 | 32 |8.2° 80| 6 06-610-360] 08 | 36 | 7° R T8 6
D * . 06-610-344] 15 [ 344] 5° INEIG
! 08-610-460| 2 | 46 | 5° h (5 l100| 8
615 | «xon [D[H L|d Z=3
e 31-615-120(3,175) 12 40 3,175 D
03-615-020] 2 [ 7 %[ 3
03-615-031] 3 | 12 4] 3 -
" 03-615-032] 3 [ 25 50 | 3 616_] va [DJ[H L] d
: 04-615-041] 4 [ 14 40 | 4 D, 31-616-120 3,175 12 40 [3.175
Y. 06-615-062[ 6 [ 25 60| 6 % [T 04616-150] 4 | 15 45| 4
| 08-615-083] 8 [ 30 80| 8 03-616-031] 3 [ 10 2] 3
10-615-103] 10 ] 35 80 [ 10 " 04616-041] 4 [ 12 4] 4
12-615-124] 12 | 40 80 | 12 L 06-616-061] 6 [ 16 45| 6
| .| 08-616-082] 8 [ 20 45| 8
0 [[z= ] 10-616-102] 10 | 20 50 | 10
i 12616-122| 12 | 25 60 | 12
620 | «xon [D[H L|d
03-620-031] 3 | 12 40] 3 =
) A 04-620-041] 4 [ 14 40] 4 s
06-620-062| 6 [ 20 60] 6 621 | va [DJ[H L] d
) 06-620-064| 6 | 25 60 6 Wy e0s1] 5 [ 12 40] 3
| % L g : / 04-621-041] 4 [ 14 40] 4
| ‘. . H \ 06-621-062] 6 | 20 60| 6
- D] S T —— ) Ta YN[ Toss21083] 8 | 35 80| 8
L
& [ H |
D ST ) ld




630 ]| Ka [O[H]T L] d 632 _] m [D[HJO] T L] d
T 03-630-314] 30°] 5,6 [ 0.1 40][ 3 03-632-336] 3 [260[60°| 0 50 | 3
d [\ o 03630-614] 60°] 26 [ 0.1 40][ 3 04-632-426] 2 [173[60°] 0 50 | 4
04-630-314] 30°] 7.4 [ 0,1 40| 4 04-632-446] 4 [346[60°| 0 50 | 4
L 04-630-614 60° [ 34 [ 0,1 0 4 06-632-666] 6 [5.20[60°] 0 50 | 6
08-632-886] 8 [6.93[60°| 0 60 | 8
Tz ] 10-632-006] 10 [866[60°| 0 75| 10
d) 12-632-226| 12 |10.39] 60°| 0 75| 12
F—— 03-632-339] 3 [15[90°] 0 50 | 3
04-632-429] 2 | 1 |90°| o 50| 4
640 | kon [D[H L] d 04-632-449] 4 | 2 |90°| o 50| 4
D 31-640-010] 1 | 6 40 [3.175 06-632-669] 6 | 3 [90°[ o 50 | 6
31-640-015] 15| 8 40 [3.175 08-632-889] 8 | 4 [90°| o 61| 8
H 31-640020] 2 | 8 40 [3.175 ,
31-640-031] 3 | 12 40 [3.175 Z=3
L 04-640-041] 4 | 18 55| 4 H 5
06-640-063| 6 | 30 60 6 )
L3 T TSI
d
645 | roa H L] d i L
03-645-020 7 %| 3 650 | km [DJ]H L] d
03-645-031 12 0| 3 cmpyxxonom 08-650-082] 8 | 30 60 8
31-645-020 7 % |3.175 08-650-083] 8 | 35 80| 8
04-645-041 14 40| 4 Z=3
. 06-645-061 20 46| 6
06-645-062 25 60| 6
08-645-083 30 80| 8
[z ] 651 _] woa [D]H L] d
\/ H cmpyxkonom 08-651-082| 8 | 30 60| 8
08-651-083] 8 | 40 80| 8
YUCTILLINA pi3| Z=3
le H N
D . — la
700 | won ]0D [T - L
D 13-700-080| 8 140 13 740 | wn [DJ]L d1] d2
e’ 13-700-100] 10 140] 13 08-740-060] 6 | 93 6| 8
13-700-120] 12 140] 13 08-740-080] 8 | 93 6| 8
13-700-150| 15 140 13 08-740-100] 10 | 93 8| 8
13-700-160| 16 140 13 08-740-120] 12 | 93 8| 8
13-700-180| 18 140 13 08-740-150] 15 | 93 9| 8
13-700-200| 20 140 13 08-740-160] 16 | 93 IE
13-700-220| 22 140 13 08-740-180] 18 | 93 IE
13-700-250| 25 140 13 08-740-200] 20 [ 93 IE
13-700-300| 30 140 13 08-740-220] 22 | 93 IE
13-700-350| 35 160 13 08-740-250] 25 | 93 12 8
13-700-400| 40 160] 13 08-740-260] 26 | 93 12 8
13-700-450| 45 160] 13 08-740-280] 28 | 93 12 8
13-700-500 | 50 160] 13 08-740-300] 30 [ 93 12 8
10-740-320] 32 | 93 12 10
10-740-350| 35 | 93 1210
10-740-380| 38 | 93 15 | 10
_ 10-740-400| 40 | 93 15 | 10
721 _| kom [ D L] d 10-740-450| 45 | 93 15[ 10
66-721-120| 12 50 | hex 10-740-500| 50 | 93 15[ 10
P L ' 10-740-550| 55 | 93 15 | 10
th 13-740-600] 60 | 162 16 | 125
. ' 13-740-680| 68 | 162 18 [ 125




731 _| A [s]|D VI L|d 740 set1] xomnnext | D | di L d2
3eHkep  66-731-020 2 | 10 56 | 33 | hex 0] 8 93| 8
66-731-025[ 2.5 | 10 56 | 33| hex 121 8 93| 8
66-731-030( 3 | 10 56 | 33| hex 151 10 93| 8
66-731-035( 3.5 hex 16 ] 10 93| 8
66-731-040( 4 hex 18] 10 93| 8
- v R 20 | 10 93] 8
- L > AA . 22| 10 93] 8
i &, 1, Habip 15wr| 25 [12.5 93| 8
v ) A < 26 [125 93| 8
@S{; @ —— =y 2 [125 %] 8
gf N IA 30 [12.5 93| 8
45° TD 351125 931 10
40 | 15 93] 10
z=2 45| 15 931 10
_ 50 | 15 931 10

801 | Koa D| H| O| nigwnuuk | L | d D )

for acrylicstone 22-801-150 | 50.8] 22.2] 15°| 4.76x39x6.9 | 38 | 12
d1 L
d2
z=2 (740 set? | komnnekt | D | d1 L[ d2
6| 4 93| 8
81 6 93| 8
Kopg, D| R|O| niguunamk | H | d 10| 8 93] 8
for acrylicstone  22-802-127 1 50.8 12.7{ 15°| 4.76%x19%6.9 [25.4| 12 121 8 93] 8
@4_ . 151 10 93] 8
N Habip 11wT| 20 | 10 93| 8
N 25 [12.5 93| 8
' 26 [12.5 93| 8
5 28 |12.5 93| 8
- z=2 30 [125 93] 8
L =38 35 (125 93| 10
D

di

d2




302i | «om D|z]|H| h L] d OOSi |  «on D|H|h| a L] d
302-400-08i| 40 | 4 | 7 5 65| 8 005-120-08i| 12 | 11 ] 6 | 90° 35| 8
302-500-08i| 50 | 6 | 7 5 70] 8 005-250-08i| 25 | 17.5]12.5[ 90° 35| 8
302-500-08if 50 | 6 | 8 6 100] 12 005-320-08i 32 | 21 | 16 90° 3B 8

-
z2=2
- D o
008i | «on D[H]|R L] d
d 008-080-08i| 8 | 6 | 4 35| 8
Koa D|z|H L| d 008-100-08i| 10| 7 | 5 35| 8
307-082-08i| 8 |2+1] 20 3B 8 008-120-08i| 12| 9 | 6 35| 8
307-102-08i| 10 | 2+1] 20 3B 8 008-160-08i| 16 | 11 | 8 35| 8
307-122-08i| 12 [ 2+1] 20 3B 8 008-180-08i| 18| 12| 9 35| 8
307-123-08i| 12 [ 2+1] 30 60| 8 " 008-200-08i] 20 [ 13 | 10 35| 8
307-162-08i| 16 | 2+1] 20 50| 8 = '* 008-300-08if 30 | 19 | 15 35| 8
307-182-08i| 18 | 2+1] 20 3B 8 ‘, 008-350-12i| 35 | 22 |17.5 40| 12
307-232-08i| 23 [ 2+1] 20 3B 8 " 008-400-12i| 40 | 25.5] 20 40| 12
307-242-08i| 24 | 2+1] 20 3B 8
307-252-08i| 25 | 2+1] 20 3B 8 z=2
307-253-12i 25 | 2+1] 30 60 | 12 Kon D| R| H| nigwunuuk | L | d
307-283-12i| 28 | 2+1] 30 60 | 12 019-020-16i| 12| 2 | 5 | 3x8x4,693zz | 35| 6
307-303-12i| 30 [ 2+1] 30 60 | 12 019-030-16i| 14 | 3 | 6 | 3x8x4,693zz | 35| 6
307-128-12i| 12 | 2+1] 81 48 | 12 019-040-16i| 16 | 4 | 7 | 3x8x4,693zz | 35| 6
307-148-12i| 14 | 2+1] 81 48 | 12 019-050-16i| 18| 5 | 8 | 3x8x4,693zz | 35| 6
307-158-12i| 15 | 2+1] 81 48 | 12 019-060-16i| 20 | 6 | 9 | 3x8x4,693zz | 35| 6
307-168-12i| 16 | 2+1] 81 48 | 12 019-080-16i| 24 | 8 | 11| 3x8x4,693zz | 35| 6
p \ 019-100-16i| 28 | 10 | 14 | 3x8x4,693zz | 35| 6
019-020-18i] 16.7| 2 | 5 |47x127%5,R3z7] 35 | 8

0151 | «on D|H| al| nipuwmnuuk [ L | d 019-030-18i| 18.7| 3 | 6 [47x12.7x5,R3z[ 35| 8

o 015-250-18i| 25 | 10 | 45°| 5x13x4,695zz| 35| 8 019-040-18i| 20.7| 4 | 7 [47x127x5,R3zz| 35| 8
015-300-18i| 30 | 13 | 45°| 5%13x4,695zz]| 35| 8 019-050-18i| 22.7] 5 | 9 [4.7x12.7x5,R3zz| 35| 8
015-400-18i| 40 | 18 | 45°| 5x13x4,695zz| 35| 8 019-060-18i| 24.7] 6 | 10 [4,7x12.7x5,R3zz| 35| 8

K ' 019-080-18i| 28.7| 8 | 12 |4.7x12.7x5,R3zz] 35| 8

\é}) [ 019-100-18i] 32.7[ 10 | 15 [4.7x12.7%5,R3zz] 35| 8
L D J 019-120-18i| 36.7| 12 | 18 |4.7x12.7x5,R3zz] 35| 8
2= z=2
Y7/ 7 7=2
Kog D|H NiALWMUNHUK L| d
020-143-18i| 14 | 30 5x14x 35| 8 =
H */ o
f ( —
z=2 D|H NiAWWNHUK L| d
027-163-18i| 16 | 30 | 8x16x5, 6882z 35| 8
027-164-18i| 16 | 40 | 8x16x5, 688zz 35| 8
{ z=2




| 327i | «om D|H nigwunhvk | L | d OSOi |  «on D[ H NiAWMUIHUK d
327-162-18i] 16 | 20 8x16%5, 6882z | 35 | 8 030-030-18i| 33 | 3 5x13x4, 69522 8
d 030-040-18i| 33 | 4 5x13%4, 69522 8
i 030-050-18i| 33 | 5 5x13x4, 69522 8
L 030-060-18i] 33 | 6 5134, 69522 8
030-080-18i[ 33 | 8 5x13x4, 69522 8
. 030-100-18i[ 33 | 10 5x13x4, 69522 8
e
i z2=2
H L
-y D L
D
A
H
_ Y
031i | «on D | H| nigwvnuuk L] d _
d 031-030-18i| 40 | 3 [ 5x13x4, 6952z 50 | 8 034i | «om D|H|h]| F

034-091-08i] 18 | 13|75 3
H e »
L. D | : N > b

= z2=2
554i | «om D| H| z| sminninoki | L | d
554-400-12if 40 | 14| 2 14x14x2 38| 12
554-600-12if 60 | 14 | 3 14x14x2 38| 12
.
. KoZ4 D|H NiAWKWNHUK
Bk, M5 558-194-22i] 19| 40| [127x1
VM-06-57
,H z2=2
557i | «om D|H nigwvnimk | L | d
" D"W 557-194-22if 19 | 40 5x19x6, 635zz| 38 | 12




701 | s | k]D]nh d 704 | wa | k]D|h d
ctanb 4241 701-312-11] 3 | 12| 4 h6 ctanb 4241 704-312-11| 3 | 12| 4 h6
-y 701-420-11| 4 | 20| 4 h8 h" 5 704-420-11| 4 | 20| 4 h8
R 701-422-11| 4 | 22| 4 h8 g 704-422-11| 4 | 22| 4 h8
"; 701-323-11| 3 | 23| 4 h8 . 704-323-11 3 | 23| 4 h8
701-430-11| 4 | 30| 4 h10 4 704-430-11| 4 | 30| 4 h10
D ~ 701-432-11] 4 [ 32] 4 h10 ol 70443211 4 [ 32] 4 h10
701-333-11 3 | 33| 4 h10 g 704-333-11 3 | 33| 4 h10
OF 701-439-11| 4 | 39| 4 h13 ©)
d — d ;™
702 | xa [k[D]h d 705 ] xa [k][D]h d
ctanb M2  702-420-11| 4 | 20| 4 h8 ctanb M2 705-312-11| 3 | 12| 4 h6
e 702-422-11| 4 | 22| 4 h8 h" M 705-420-11 4 [ 20| 4 h8
i 702-430-11| 4 [ 30| 4 h10 S 705-422-11| 4 | 22| 4 h8
": . 702-432-11| 4 [ 32 ] 4 h10 . 705-430-11| 4 [ 30| 4 h10
4 705-432-11| 4 | 32| 4 h10
D. D |
© 3 OF
d —. d =
703 ] wa [K[D][h d 706 | wa | k]D|h d
cranb HSSCo 703-420-11| 4 | 20 | 4 h8 cranb HSSCo 706-420-11| 4 | 20 | 4 h8
N 703-422-11| 4 | 22 ] 4 h8 h" 5 706-422-11| 4 | 22| 4 h8
z 703-430-11| 4 [ 30| 4 h10 3 706-432-11| 4 | 32| 4 h10
"1 " 703-432-11| 4 [ 32 ] 4 h10 .
3 nogaBaHHsAM Co-5% (ko6anbT) : 3 pogaBaHHsAM Co-5% (koGanbT)
o} @]
d — . d -
HSS-R - 4241 - npubnuaHo signosinae P2AM3 abo HSS
HSS-E - 6542 abo M2 - npubnusHo Bignosigae P6M5
HSSCo - M35 abo M42 - npubnusHo signosigae P6M5KS
KONipOBanbHi Koa | D| h NigWMNHUK d nepexigHa KoZa D| L d
Kinbus 30 [ 6.2 8x19x6, 6982z 8 BTYNKa g 8123 4
/U 34162 8x19x6, 6982z 8 8 | 23 6
| @j(. " 40 [ 6.2 8x19%6, 69822 8 12 | 23 6
50 | 6.2 8x19x6, 6982z 8 L1223 8
LT e | T 12x24x6, 69012z 12 127 23 6
LTJ 127 23 8
LieHTpa Koz D|H]|]h d
@ nepeknaHi 14110 |15 6
> @ @ nip WKaHT R 14 (10115 7
1 . 14110 )15 8
d‘ C i 14110115 10
! 18110115 12
iFre 1 b
FBUHTM Q&M( L H =
' 4 CTONOpHe Koz D| h rBUHT d
kog | D[ 1| L[| wigmicts d KinbLe wupoke | 12| 10 T15 3
&P o IM0235 9 | 5 [72 M35 wupoke | 12 | 10 T15 4
( : VM-06-53 3 M5 wupoke | 12| 10 T15 4,5
J VM-06-55 5 M5 wupoke | 14 | 10 T15 5
u VM-06-57 7 | 10 M5 wupoke | 14 | 10 T15 6
VM-06-55 6inmin 51 8 M5 wupoke | 16 | 10 T15 8
'(@m@ VM-01-46 5 i wwpoke | 18] 10 | T15 10
VM-03-38 8 |12 M3 Bysbke | 12 ] 5.5 H1.5 6
« VM-03-39 9 |13 M3 Bysske | 14 | 5.5 H15 8
~ VM-03-30 10 | 14 M3 BY3bke 16| 6 H1.5 10
(l 10 VvI-03-1838 318 1/8 BY3bke 18] 6 H1.5 12
VM-03-48 8 |13 M4




uaHrmER | poamip | D | h TOUHICTb d nipwmnunku]  kop D
- D . ER16-3 17 | 27 3 dxD xH MR 63 zz 6
T —ERtets | 17 ] 27 3175 I @3 MR83zz | 8
/ “ ‘Il ‘I " ER16-4 17 | 27 4 J ' 693 zz 8
I«‘ ‘]" \3 “i ER16-6 | 17 | 27 6 — b 684 zz 9
N A7, ER16-1/4 17 | 27 6,35 MR104zz | 10
d. . ER16-8 | 17 [ 27 8 6042z | 12
L ER20-3 | 21 | 31 3 R1662z | 96
ER20-1/8 211 3 3,175 R3zz 12,7
ER20-4 21 | 31 4 MR 85 zz 8
ER20-6 21 | 31 6 MR 95 zz 3
ER20-1/4 211 3 6,35 MR105zz | 10 | 4
ER20-8 21 | 31 8 MR125zz | 12 | 4
ER20-12 21| 31 12 695 zz 131 4
ER25-3 26 | 34 3 6052z 14 5
ER25-1/8 26 | 34 3,175 625 zz 16 5
ER25-4 26 | 34 4 635 zz 191 6
ER25-6 26 | 34 6 MR106zz | 10 3
ER25-1/4 26 | 34 6,35 MR126zz | 12 | 4
ER25-8 26 | 34 8 686 zz 13 5
ER25-12 26 | 34 12 696 zz 151 5
ER32-3 33 | 40 3 626 zz 191 6
ER32-1/8 33 ] 40 3,175 R4azz 19,117,14 6,
ER32-4 33 | 40 4 607 zz 191 6
ER32-6 33 | 40 6 MR128zz | 12 | 3,5
ER32-1/4 33 ] 40 6,35 MR148zz | 14 | 4
ER32-8 33 | 40 8 688 zz 16 5
ER32-12 33 | 40 12 698 zz 191 6
ER40-4 41 | 46 4 608 zz 22 7
ER40-6 41 | 46 6 628 zz 24 8
ER40-1/4 41 | 46 6,35 638 zz 28| 9
ER40-8 41 | 46 8 629 zz 26 8
ER40-12 41 | 46 12 6000 zz 26 8
ER40-1/2 41 | 46 12,7 6300 zz 3B | 15
ER40-16 41 | 46 16 6801 zz 21 5
6901 zz 241 6
60012RS | 28
6201 zz 32
R1212zz | 191
6002 zz 32
6202 2RS | 35
6203 2RS | 40
203/42 42
61904 zz | 37
6004 zz 42
6204 zz 47
6304 zz 52
6005 zz 47
6205 zz 52
6305 zz 62
6006 zz 55
6306 2RS | 72
6308 zz 90




20A | wa [ h] L Wmrp 201B h| L [wmp
30 | - 130
) v_,/, w o
o gy @ F. HofoTon 3 T F, HbloToH
m\ y - - ]
< v 8 270 v = 201-B 900
201C h | L [Wrmp 225D h | L |Wrmp
’ 144 — ) 242
o — ] W
ik S F, HbloToH % f&f F, HbloToH
v 1000 - 2270
203F h | L |Wrmp h | L [Wrmp
E— 340 367
I J' - ) F, HotoToH F, HbloToH
- I 2270 2270
h | L [Wmp h | L [Wrmp
100| 240|636 100] 290|674
F, HbtoToH F, HbtoToH
4000 4000
204GBL h | L [Wrmp 20820 h | L |Wrp
an-z0s-ceL 36w — 316 | 1200 P 136
‘- F, HbtoToH o
> 6300 v F, HotoToH
101B h L W,rp 20820
136
202F h | L |Wrp
F, HbtoToH 386
[100] &fﬂ'&s—
h L)
i s;‘ F, HotoToH
h [ L [Wap O 2027 [T 2m0
130
F, HotoToH h | L [Wmp
1000 315
F, HotoToH
h | L [Wrmp 1800
602
GH-12205 T —
F, HbtoToH 101EL h | L [Wrmp
1820 748
-~ 101-EL
i F, HotoToH
301AM h | L [Wrmp 1800
260
§ 301-AM F, HbeTOH
< ey 420 302FM h | L [Wrmp
&) 302FM 260
302DM h | L [Wrmp R F, HbtoToH
| — 215]440 - =Ty | 1360
J‘“ 302-DM Fl HbI'OTOH :
e 1500 40323 h ] L |Wmp
315
d|{DJ|L
M4*25mm | 4 | 10 | 29 F, HbtoToH
M5*40mm | 5 | 13 | 47 1200
M6*45mm | 6 | 14 | 53
M8*70mm | 8 | 18 | 70
M10*80mm| 10 | 21 | 88




